ividualized
' computation
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Dear Reader -

L am a Greedy,Invisible
Digit- Eating Grem]in. T eat
digits o 1,2,3,4,5,6,7,8
and F.... but T try to be =
considerate Gremlin.

I promise TH try toeat
nothing bt unnecessary
digits. I mean T alwoys try to
leave enough diqh‘s so you can
figure out what I have eaten.

Can you tell what 1 had
for desserT last night ¢

o0 r3 r=
191 1 71 DI 4
- = F=
-1 1A + 1 i€ X |3|
) B 121 |
- | R L_ -

B

- (it

b1 100

= - Lo

g ! 3 + 1 IF -1 Ip
P et
I |7l I ! ! | !
L 24 L_1>1 L_J

YOu ([ find you have

enough information so you khow

exactly what T ate.

I'Wt +ry very hard not to

leave such questions as these.:

r- 7 -7 8

17_{& ;_ l x3 or x3

F=— T2 e Ty

'5lor x 31
-+ - N
R4 12! ; or _x3
L_dl_1 X3 LSi_ 72

35

But sometimes my
hunger makes me careless.

For example

= "

I D ] JD

- -

1 |D or I D

- -t

(3! M 310 M

| IS S| L_-1_ 1
- (] i
| ID ) D | 10
i F- =
] Ip Or | o Or | D
—— —t— —t—
Bl | | 81 ! | Bl 16|
[ L_¢§J (SR T |

I am attaching a brief
note. Can you find what L
ate for breakfast 7

Sihcer—erly,

&S . 1L.DE.G.

m r—-
LJFJ?_} .6




Tactics and Language you may find useful.

Change to

““Round off to

Change to
““equivalent fractions’

“simplest form" or the nearest 10" with the “least
“lowest terms common denominator”
¥ ) 7
5 _ 2 _ _ 13 —_ 10 | | _ _Z :
0 - 4 -~ 2 7' 4 - A%
16 —>_ 20
8 - 4 - z2 |27 | | | - 3 c
5 = 5 ~ "3 _ 127 —>_ 130 5T 5
124 —> |20
4 _ 2 _ 1, — s
6 ~ 8 202 —>_ 200 6 '3 "6 6
28 —= £
4 ) r - B I ’ I — , E
8 = S5 7 3 — . 3 'T4 - 12T
15 —
2 = = ¢ —=— " 3, 3 - F
9 -~ 6 ~ 3~ 73 — 4 8 8 ' 8
I
Change to Change to a Change to a
% (per cent) “proper fraction” “mixed number”’
i in ““lowest terms” in “lowest terms”
7
1 - 50 _ene 4 - (L - 3 6 - 3 - I
2 = Joo -900% g =17 = = a - 2 T %
or or
6 2
-é- = -% =150% I%: —Ig— = —D — = |T = A
= oo 5. %A 25=2— = —¢ 5=
A | B|C|D]|E|F
|% = Too ~— ----%° 2%: - = —1lg 5|0 % % 20 | 30
Hl2s | % | 75 | 60|43 | §
| 5
-%— = To0 = “_—0/0 C I% = |— = —u 1 ‘J‘- I3 70 | 5,2 3 6,3
o 13 1125 15 |25 |200| %




Another tactic and more language:

“Estimate” the answer by “rounding off each factor to the nearest 10.”
Then compare the “estimate’” with the actual product.

estimate: _10 x 10 = ‘! estimate: X =
c : e b
|4 ! 13
x 6 __100 € _iorger X 7 el
Bl —-------"> 84 smaller ”
difference
d c
estimate: X DL = estimate: X =
d e a c e
32 51
X 8 e X 9 e
b a
estimate: X = estimate: X =
a c d a c
|7 26
S I s x 14 -
- -
) d
estimate: X =
e a b
q _b c d e
43 28 800 20 16 4
x 17 _ 40 44 100 64 30
_— 10 69 10 10 20
: 4| 30 9 200 500
300 100 | 300 50 10




Cubes, Flats, Longs and Ones

‘.?
\
\\\:S @
2 3 5 4
cubes flats longs ones
cubes flats longs ones
pod = 200 = 2000
2 cubes
3 - -
3’(6) T la e
3 flats 5 _ 5\ |_ T _
05,(s) |=|, () |5l 5 =
: 4 \|_ a4 |- ay | =
5longs 4 ones OO47(|000) e 7(|00) " a "(IO) b 4 -
cubes flats longs ones cubes flats longs ones
| . 2354 . 2354
| ) i 10
o] " X 0 |
folo] X ) 0 |
23 E A A B. C. D. E
2300 | 2354 | 35 23 | .04
B 3.5 c D 30 Ol 54 10 230
| 35 5 350 | 100
E. 5.4 4 300 |2354 | 50 | .054




Different ways of reporting measurements.

@969,09
E

'
A

[+

cents

44 ¢

| 2 3] . 38¢

3. |g 2 ¢
b
yd  ft  in inches
3 , 2 \ oy in.
| || _ in
s e ——— ———— —— T
. \ in.
a b
1
al, gt 2pt  half- pints
3 %p,s.
X_2 X 2_
i
. 2
. b pts.
cases
paks
24 6 Lo cans
S _cans
= 3 = 3
. cans
qa d
da., hr._ min. minutes
O . S .30 min
+ , |4v45 + min.
| . min.
c d

-+ } cents
3 4 ¢
+H1 3 5] 4 ¢
#’=
1 — ¢
c d
m_, dm, cm centimeters
2 7 6 om
10 8 3 _ cm
—rk L Cm
Cc Cc
$1 (1o¢)(10¢
— } cents
.25 ¢
X 3 X 3
1 ] ¢
e e
m ' dm; cm centimeters
4q . 5 . o] em
=2 =2
. . cm
e e
g b c d e
2,011 46 193 435 275
1,0,3 82 483 483 225
23,2 83 0,75 27 375




¥ \\

B B NI B
5+t gtz=—"°
and

L. 2_1. 5_ 1. |—2.

2 373 G 3
41 S5 _1._.__a b _ 1. __ ¢
26 6 3 376 25l |2
2 1. 1 L. z 5|3
5-% |- 3= | —5=— :



Tactics and Language you may find useful.

Change to
Change to Find denominators “equivalent fractions’’
“simplest form” or that may be with the "‘least
“lowest terms”’ ““more convenient”’ common denominator”’
) ) k) R
6 - 3 - _ - 3 - 35 2,3 -8 |3
I8 9 2 2 6 10 3 4 12 12
K3 2 5 0 I I
_ = — = — A. _ = —_ = — _ = — -
20 - 10 3 9 B 2 ' 4 s 'a’
2 _ _ _ 3 _ _ - _ ' -
28 - 14 - B - 8 "¢ "7 C »—"
8 . _ - __ L ‘ 2 - __ ., _
iz - & - ¢ 37 6 s ' g ' 3 7 r—¢
4 _ - S - - I
00 - 50 - © 6 - T2 ~T8° 6 2 r —P
Change to an Change to a Change to
“improper fraction” ““mixed number a “common fraction”
in lowest terms’’ in lowest terms’’ in ““lowest terms”’
) '
2. L. 3 6 . 3 .1 5= 5 -1
6 2 2 4 2 2 ‘ 10 2
-or- -or-
3 6 2
2 - - = — 2 - |&£ = |—E = — = — A
4 _ 9 _ - - -
2% =2—=—58 2 = = F 4= — =—¢
4 -or- o -or- A, B | C | D E | F
- - - - 2 1 I |3 8] I
2—8— = ? = —CC ? = I— = G.6 ey |? E’E 3 6,I2IO,I5
. . e |2 [%[2]|" %23
- - - - | 3 5 [5 3 |
lig= — = —0D 5 - = L7 |7 |ales|'3]|8®
3 |2 3] 2 \ |
12 lee|l 528 [37['Z




Another tactic and more language:

““Estimate” the answer by “rounding off each factor to the nearest 10.”
Then compare the “estimate” with the actual product.

estimate: _10 x 20 = _200 - estimate: X = -
9 5. 18
X |2 r"""'::2_2_8__-_|0rqer X |3 0 —mmeeaio-
ISB E —  200< smaller —_—
.E difference
228 5 -
estimate: = estimate: X =
e a e
I7 14
x 14 e S L S
b Q
estimate: = estimate: X =
C d b c
16 19
X 16 mmemmeeee- X 19  eeeee-
e d
estimate: =
a e
g b ¢ d @
y ” 200 | 37 20 47 10
_ 20 38 400 28 13
_— 19 121 34 10 144
= 10 200 I0 39 100
96 20 2i 400 20




Different ways of reporting measurements.

.r nickels
3 4] 83(
42 0 2| , 102G
3 4 |
C
nickels
3 o o
23]
.
a c
;: > nickels
L 115
X___ x 3
L
a C
25¢, 5¢, 1¢ nickels
S {
-~ 3 =3
L
3 d
d.% ft . feet
IS B
A3 1 6
- .

m_,dm , cm decimeters
2 | OA 9 dm
|1 7 6| - dm
— dm
b
BB
$ ;; dimes
| 2 5
X O X
1 i e
m, dm, cm decimeters
3. L 2 dm
- 6 -
. . dm
e
g b ¢ d e
64, | 501 | 194 1445]| 6.2
,22| 825 | 78| 5 %&| 62
02| 333| 34| 15{5| 625




flats

longs

ones

< =

cubes | flats | longs
N —

]

longs

ones

I\ flats

E

10

flats |, longs , ones
r D. Ar‘
cubes | flats longs
‘-‘ C. E."
A. B. C. D. E.
916 | 455 | 548 | 1174 | 1225
4.98 | 1174 | 1.345 | 9.6 | 12.12
548 | 345 | 11,74 |12.25 | 4.55
455 | 54.8 | 1.225 | 8.75 | 916




Change to
“simplest form”” or

Round off to the

Change to “equivalent
fractions” with “least

“lowest terms”’ nearest 10. common denominator”’.
5__ . 17— 2.3 ., __
0 4 2 34 —> 3 4 12 12
6 .. S
96 3 Me —_ 2’4 3'3
8 358 — L
005025 73— T T
96 —_
Estimate each answer by “rounding off each factor to the nearest 10.”
Then compare this “estimate’” with the actual product.
estimate. X = estimate: X =
|7 I8
ﬁ ________ larger xI18  ________
—__ smaller —
difference
$
@=@=® pennies ! ; .r® dimes
2 0 4 e 3.8 1|
+| | . ‘ - ¢ — | . 9 -
1 1 c 1 1
‘\\ \\l‘ L 1] L, 1.
/”/\\\\ | L L
///i////// \\\ \\\\ 11 5 _1.
kS = =4 3 6 6 3
= S L_1.
i=————i 2 3

How do you feel ?



The “Greedy Invisible Digit-Eating Gremlin” was here.

= r—t—
O wi O
- — F-1+-—-4
|o I o Jw
" -4 -
le —
| _ | !
! |
I
L_
[&)
=7
_
_ T
?_I“ | O ju
_ [
wy o !
L__ 1
_ [
M
U
—7
Ol
—
< | .
| W Q|
—1--
[&]] |m
L_ _ |
_ ! _
ol L2
-
N~
_
T
I ||
S
l
ole]
- “||LE
|<
| -
(&) (@]
[ .IJ_
_
T rUﬁnl“
— -
F— | _
[
ﬁhw_L L2

9152
FI13|0]|7
G| 6|74

E

4

xI and X0 -2 and 22 . 4[16 and 9[36

4

10

9

9

There are at least 4 examples in which he ate
too much. Asyou find them, please record

G.1.D.E.G. must have been very hungry.
them on page 63. For example:

12



‘Tactics and language you may find useful.

Change to
“simplest form”” or
“lowest terms”’

Change to
% (per cent)

Change to
“equivalent fractions'
with the “least
common denominator

L
¢ ] K]

40 _ 4 _ 2 3 _ 75 _ g 7 4
00 = 10 ~ 5 3 = Too = (9% e
27 - = A I o/, | | - c
8| 9 10 100 8 ' 3 24 ' 24
18 - B I L ;
20 - 10 ~ 5 — 100 — ° 6 ' 34 - 32 ' 13
9 _ 3 _ C 2 _ - o 2 3 _ , c

-6 7 5 ~ 100 ~ ° 7 4 =

= - S D I = = % —2 ’ D = ) F
24 8 4 100 3 '8

“Round off to Change to a Change to

the nearest 50”

“mixed number
in lowest terms’”’

a “common fraction”
in “lowest terms’’

26 —— 50
174 —> 150
_ 277 —_ 300
— {0 —> 50
140 —>
_S570 —*
680 —

219 —*

498 —*°>

13
6

'Lg':_s':

15
|

h
§ - 2%

25 _ —
5

of = 2D I
25%= 55 = &

o — ____ — ___E
10% = 50

|
m

30%= 455 =

A B c D E F

150 |]? 700| 2,3 | 500 | 20%

40% 550 | 18, % | 200 | B8k B
345|100 2 5|86 | 5 200

6
4 1 16 15
1050 %’% %’5 I 7| 10792424

13




Another tactic and more language:

““Estimate’’ the answer by “‘rounding off” the “dividend” to the nearest 100,
and the “divisor”” to the nearest 10.

Then, please compare the “estimate’”” with the computed resulit.

a b f : e f a
—— A ;
19]589 S 3L arger 19 | 703
l :__30—'Jsmaller _
9 difference
d b
estimate: - = estimate: ~ =
¢ d & a b c

l9| Sle |9| 1026 .

f d
estimate: - = estimate: - =
e f a c d e
I9| 1235 .. I9| 1406 o=
;=_ ;———
b f
estimate: - =
a b c
a b c d e f
19 ‘ 1767 600 7 40 I 50 0]
_ 1000 5 50 7 700 3
35 8 900 3 45 q
— 60 | 20 | 90 | 20 | 70 | 20
1800| 2 1400 4 1200 { 30

14




H A H AN
H H H
aguis
HH
Jodopoo JlUUDopboooo
flats |, longs | ones flats | longs |  ones
f,\-_z‘_/}' J
A ) I D. E. A
L1
flats |, longs |, ones flats | longs | ones
B. C. D.r’ E. A. :”
flats , longs | ones | flats |, longs | ones
C. D. E. A B, C.
A. B. C | D E.
a F.| 169 | 27 | 303 |303 | 1.69
' G| 27 | 234|267 | 173 | 147
flats , longs , ones H| 147 | 169 | 17.3| 147 | 267
. E c I|234 | 173 | 270 | 26.7 | 303

15



Different ways of reporting measurements.

gal. qt  pt quarts
o 1
| : I =2 —__5__“_qts
+H 1 3 | ﬁ_.qts.
3 0 3 12 ¥ s,
yd. ft. . in feet
2, 1,6| _T32.a
Jo 22| _ 2%,
A 1 ft.
a b
@::® nickels
o 6+ @
x 3 X 3
1 S " d
& :@,® nickels
6 4|
=~ 3 -
1 e I 0
cases
6 -paks
24, 6 :cans 6-paks
| t € } S| 6 - paks
+ 2 5 O 4 5 + 6- paks
L = 6- paks
b c

16

dimes
3 2 2 322
+ 4 6 3 +
d
m  dm_ cm decimeters
5 : 4q , 31 dm
- | O: S — dm
, dm
e
@:GF/ dimes
| 4 3
X x
l a
m_, dm, cm decimeters
450 q
P W m
- =2
\ dm
b
g b ¢ d e
1€ | 225 | 333 | 785 | 8,2
2,4 | 332 | 15%| 18 8| 434
42.9 5% | 14 6 | .22




Different ways of reporting measurements.

yd. ft. in. feet | .@. dimes
1 T —l_ LA L §
| 2.6 5% 2 5 2 252 (09
fJ1 26| 4+ 5% 43 5 6| 4
— 4 : a4~ ¢ ft = 4
. o L
a b c
6900 : |
4 ' nickels m_,dm,h cm decimeters
3 3 3 182 (59 7 0 8 .
I T T |16 5] _ i
1 i @ 1 ' dm
a b e
yd. ft. in. feet | .. dimes
1 T _l T ¥
2 1 8] 7z 4 LIS I
X 2 X 2 X O x 5
'l 1 ft. | 1 |O¢
a b e
yd.  ft. in. feet m ,dm, k6 cm decimeters
1 L _I- ¥ L
4 1 2 L 6 ___l_?'_._z__ ft 6 'l 2 ] 4 __________ dm
= 2 =2 = 3 -3
1 1 ft. ) ) dm
c d e
gal. qis..%pt quarts
T 1 _I—
. | . _-__9__2____q?. : bg < dl
"o 222 | 128 | 21,3 | 6% | 208
H12 2| &
—_— qt. 320 | I 608 | 16 54.3
L qt. 500 ( 15 400 | 74 | 570
c d

17



What Can You See?

N
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\w

h

—
| w—
)
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D
(¢
wio | of—

18



Tactics and language you may find useful.

Change to
“’simplest form’" or
“lowest terms”’

“Round off to
the nearest 10"’

Change to

““equivalent fractions”
with the ““least
common denominator”’

3 ) B )
8 - = 2 16 —e 20 | | - 3 5
4 2 5 '3 5 ' 15
14 — | O
4 _ 2 _ . 2 2 _ A
8 - 4 ~ —47 5 '3 T 15 ']
03 —
8 - - 3 2 _ B
|2 - 6 - 98 —> 4 ? 3 — ?
52 —
I8 _ _ | , I , c
6 - 3 -~ 6 — 9 3 -
211 —

8 - _4 - — S
“Round off to IC’Zhgngetoa ghangetoa o
the nearest 100" mixed number common fraction

in lowest terms’’ in ““lowest terms”’

187 — 200 10 - 12 - (L - - __D
| - s =lg = I3 5= 150 ~
13 —— 100 - -or-

275 —»_ 300 10 - - = — = —¢E

- - 8 - 4 - 8— 10 —

225 —»

B = 5 = 2— 02= —== = —F

860 ——» e T 2 - 00
755 — 800 A B c D E F

- — 14 _ - B 2 2
3 - - G|2600 3 33 1500 | 50 | 40
745 —» 700
— N H| 610|900 | 43 | & | 30 | 100
_leg —» 3_%:3?___ c {20038 | 3 | 3 |120 | g
1283 —» J| L | 3% 300|232 2 |20




Another tactic and more language:

“Estimate’”” the answer by “rounding off” the ““dividend”” to the nearest 100,
and the “‘divisor” to the nearest 10. Then, please compare the “estimate”
with the computed resulit.

estimate: _ 200 —10 = _ 20 estimate: e =
f e b | e f a
_______ 1 |
8| 184 o222 23 ) iarger 9| 378
- 2Q smaller -
difference _
d b
estimate: - = estimate: s =
¢ d e a b c
| 2
I2| I4214 _________ I8| 468
I h
24
— f d
estimate: = = estimate: - =
e f a c d e
23|437 .......... 36|972 e
b f
estimate: - =
a b c
g b c d e fj
34||224 __________ 20 9 0o | 40 | 500 | 200
_ 7 2 00 | 1 400 | 2
- 40 | 20 | 40 3 10 20
r 1200 30 | 25 0 | 300 | 100
500 | | 000 | 4 25 10

20
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~
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Change to
““equivalent fractions” ‘Round off to

with the “least the nearest 100"
common denominator’’

Change to a ““common
fraction” in “‘simplest
form’ or “lowest terms”’

f 3 I75 — %/ —
2'8°8'8 0%

H3 —
I | 250/03—
L Sl 909 —»
_2—’—3—=_’_ 990 —_ Ioo/o':_
3 4

1346 — 5% =

Estimate answers by “rounding off’’ the ““divisor’”” to the nearest 10 and the “dividend”
to the nearest 100. Then compare this ““estimate’” with the actual result.

estimate: = = estimate: ~ =
22|396 --------- larger 37|H84 S
- smaller —
difference

yd. ft in. feet m_, dm, cm centimeters

4.0 6 . 34 6
R R 1 I cm
- | 1 | 19 ft + 2| 717_ cm
! L ft. I 1 J’ cm
4= e
2 2 2 3
|L=_ |.|__i=
2 6 2 3
4 -
|2—|‘ How do
you feel ?

22



G.I.D.E.C. was here . . .
Did he eat too much?

ﬁll_

]
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Tactics and language you may find useful.

Change to
“simplest form” or
“lowest terms”’

Change to a
““decimal fraction”

Change to

“equivalent fractions”
with the “‘least
common denominator”’

' ) )
20 _ 22 _ — _ | | _ D
6 - 3 6 |O°/o— 100 — A 8 ' 7 — ’
or
20 - 10 - o/ — — F 2 5 - E
30 _ — o) - ____ — A | |_ - F
4 - - |5/O'—' 100 - 8 1 6 '
50 _ - o/ — - B 3 2 _ — A
8 - %= o5 = 775 ~ '
44 _ — o) — _____ — c 2 5 _ B
8 B 83%= 50 = 9 ' 6 '
"Round off to Change to Change to a
" ““equivalent fractions ““mixed number”
the nearest 10
with other denominators” in “lowest terms”’
15.5 20 Ir
. — | - 9 _ E o/ — -
S lz= &% = 3 10%= 165 = =
4397 —/ 40
o/ — - D
1487 —_ 1490 13 = - r 225%= oo =
4 8 12
245 — IlOO/O: TOO = E
| - -
9713 — 23~ - 7 ilaiBic 1D E L F
|
105.9 ) 60 4»0{> 20 | 60 Il-a 05
- - I {41 | (7.8
04.9 5= 5 = 245 33 B8l 7 = |sea| 90| 100
35|70 [ 100 | 5% | 2l
_9X7 — - ¢ 22

6X8 —=

24

n
3
3

28

15 14 L
3%’35 50 | 220| 6+ | 110
15

35| 85| 2% &%@ 19




Another tactic and more language:

“Estimate’’ the answer by “rounding off each factor to the nearest 10”.
Then compare the “estimate” with the actual product.

estimate: 20 x 30 = _ 600~ estimate: X = -
1 e
26 l 21
X 24 000000 e I_larger X 21 aeeeaaa-
— 600+< smaller -
__ _difference
d c
estimate; X = estimate: X =
a e ] c e
24 26
X 24 e X 26  memeeeee
b a
estimate:; X estimate: X =
b c d a c
29 23
X 29  memmeeeee- x 88 e
e d
estimate: X
e a b
g b c d e
28 124 400 | 1200 | 256 59
X 53 T 224 176 30 134 20
- 20 60 16 24 512
= 400 | 1500 | 4l 900 900
50 30 30 30 30

25



. Thousandths

. Hundredths . .

.Tens...Ones...Tenths ..

. Hundreds . .

Thousands ..

5 'rhou?mdths

| thousandth

| hundredth

| tenth

(One Whole

al o |8
ol 3|
o & | N
: o)
Q| g5
=} <
—=—-F-"
| |
l |
U R |
1 "
r———F—"
[ Oﬁ._
(ol .
—__L__
| I s
r——-Ir—"
lau|© I
=10 |
| N R |
<
r——— -~
.
| L
L J__
n T
N B
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I
+ +s
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_Z_ﬁlv o
L1 __1




Different ways of reporting measurements.

d. ft. in feet
2.0.8| 63 g4
([
+ | 2 | + O ¢t
4 1 O 1 7 ff
d
d. ft. in feet
3 1. 2 } o ft
T - o
1 1 fT.
a d
yd. . ft.  in. feet
| . I ‘6 __________ o
x 4 x 4
) ) ft.
a c
yd.  ft. in. feet
c I .9 6
' A ft.
a d
wk.: da.: hrs. hours
| : O =|5 __________ he
+ | N 10 + hr.
; ! hr.
b e

@O cents
4 9 6 R
i3 o 8] + ‘
=t
\ A ¢
b
m dm cm centimeters
6 0 0 o
_| | 2 8| - o
= —
'l 'l cm
b
$ :: dimes
| 6 5
X 3 X J
I} 1 C
m ,dm, cm decimeters
3. 2 4 dm
- b6 — 6
%
A | dm
C
g b ¢ d e
6,00 | 1,2, 18 | 63| 149
207 | 804 | 495 | 65| 217
205| 472 | 54 | 127 ] 304
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A General Plan for adding and subtracting “proper fractions”
. using “least common denominator” or ““smallest common unit.”

=2

é— + % = % + —é— = "? = | —:':: <-—— “‘changed to simplest forms”

T——’—— “least common denominator’”’
_l_..__l-:-———:—:—A. —g—l—:————:_—:—B.
2 6 6 6 6 5 [0 I | Jo]

I | | 3
—_— _— = — — = — C. —_——_ = Z = - — = — = —D.
g Y3 12t 12 2 " 10 " 10

| | 2 3 ‘
—_ —_— = — — = — E —_ = = — _ = — = |—A.
6 t Y [ Al 3 t u + |

2 I _ _ _ 3 | -
= - = —_ = =—8B — — = = C.

3 "% 5 ¥ 3 +

3 2 | 2
=~ — = = = — D —_— - — = - = .

g T3 + | 2 ~ 7 £

Sometimes it is useful to change a “‘mixed number’”’ to an “improper fraction”.

| | 3

—_ - — Z - e 0 Z - em = 2% == — A

I2 3 2 6 6 6 |

g _I__ = — N — —_— = —=— = S—=5—

I§ +275 =5 + o *to "5 "3 =3—8

| |

m =~ = — - = — — = — = — C

Ig+tlz=gt+t3= g +3g 2

|—‘-— §- = - — =z — - = — C

3 y 3 y 12 |2

A B C D E
1 oo _ - - 5| z |27 2|
5 +|3 = +— = + = = D 5 i
|8 |E 18| &

b _ 5 _ _ _ | Ll | 0| 7
3 -§ " ———=——-——=—¢ 3 (32|35 |%
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Tactics and language you may find useful.

Change to
“simplest form” or
lowest terms”’

“Round off to
the nearest 100"’

Change to

“equivalent fractions”
with the “least
common denominator”’

! ' {
9 _ 3 _ IL 175.8 " 200 | | _ A
6 - 2 - 2 3 '"7 ~ ’
758
8 _ - A - I | - &
2~ = 5 = 75.8 II 100 .ol Sl , B
I87§ —
15 - — B — 3 5 - C
o -~ 2 459.1 4 '8 '
954 |
12 _ _ C I : I - : D
I8 - 9 - 945, 7 9
9541
14 _ | 5 = |=P [ , E
Change to Change to a Changetoa
““equivalent fractions decimal fraction” ““common fraction”
with other denominators” in “lowest terms’’
) 3 {
L = _ = F _I_ - - o) — = D
3 &8 - % 5 0 0% = o0
% = = E
3 - = A = = 5% 0
4 - 8 ~ T2 TO 0
| | 15% = 150 = F
4 - _ = ___B e
7T " 14 - I 20 ~ 100 ~ A 1B C D E | F
6,9 B | 900 15,25 5.5
2 - __ = __¢ = = 500 | 04 | & | 1} |9500 4,6
9 18 90 25 100 3 6
2 | 14420100 2 2
5 _ - __D T - - 1.3123/8,2| L |800|9400
6 I8 -~ 30 25 - 100 | 2l 8 8 9|O|
.05 [I000]| .28 8363 .2 200
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Another tactic and more language:

“Estimate” the answer by ““rounding off each factor to the nearest 10”.

Then compare the ““estimate’” with the actual product.

estimate: _70 x40 = _2800 _ estimate: X = .
39 76
X 69 0 e larger X 78 = e
— smaller ———
differencer
C
estimate; X = estimate: X =
d e a c d e
78 74
x 97 e - x 86 0 ce-meeee--
b g
estimate: X_ = estimate: X =
b c d a c
79 68
X 64 00 m--mmee--- X 42 000 —e-m-e--
e a
estimate: X =
e a b
g b ¢ d 8
?g 90 70 124 | 100 127
x __________
e _ 56 |6400 60 66 80
_— 8000 | 6300 | 2800 | 501 256
S 40 434 80 | 4800 | 4200
80 60 472 70 70
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Different ways of reporting measurements.

quarters
2 2 4 24 (9
Hd2 2 a4l . 28 (@
. 5% (259
a
@9,(59,(19
4 0. 0] 4
|1 0 1] - 156

c d
yd.= ft ; in. yards
15
3 1%
4] 4 s
. d.
c d d

+ dollars
3 4 6| $346
A1 9 7| 4
1 i $
c
m ;dm , Cm meters
3 4 6
—t— - m
|19 7| _ -
m
e
$ ¢ ¢
l+@:® dollars
I . 4 . o $
X © X ©
$
e
m , dm= cm meters
8 o |
i R E m
- 7 =7
= —
L m
e
ol b c d e
24,4 | 2585 | 227 | 38 | 123
503 | 2 [ 310 | a8 | 1.49
2,3, %g 5,43 2% 876
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One .

. . Tenths . .

. Hundredths . . .

%

NANN N@
Y

N
——-
1
——
-
1
il

3 L] EANERE 25 || 1|
o |Tl 1o 7 ° 00 |*| 100 |~ ° 00 |T| 10 |7
+ = D + = E + =
A B. C E A B
s [ [ )L 22 | [ 7 [ .
ic 7| 70 |7 100 |7| 100 |~ |
A.|l B.] C. | D E.
- = B — = C
4 15
y 5 = = 3|1 cloo| 4 |O7
5| .0 |15 |2 .22
4 3 |- Ty L=
o Y] 10 |* 00 | *| 100 |~ > 25| .2 |04 | 4|4
— - 22 2
+ = D -+ = E 35 |.50 100 7 )

o

32




Change to a "‘mixed
number” in “simplest
form’” or “lowest terms’’

Change to ““equivalent
fractions with other
denominators’’

Change to a
decimal fraction

_|_4_— L: -a-z—:— Of - =
6 °2%6 $°5°T5 25% =150
-2-2-= = i:—:— i:—:
4 7 | 5 5 |
3—4 = = i: —_—= -i = —=
8 5 10 100 25 100
Estimate each answer by “rounding off each factor to the nearest 10”.
Then compare this “estimate’” with the actual product.
estimate: X = estimate: X =
[ larger g8
X 54 X 78
- smaller =
difference
$
25¢ :@:@ nickels ! ==® dollars
| 4 3 (s¢) 2 4 s
2 X 2 X 3 X 3
- (=) . S
:' """ hl r"""} roe==- A | "l f-===== "‘I r"""’: F""‘—‘l r=--—-—-= hal l"__":
A N S D A S S AN R S S S U N SN O S
0TI T 1100} 1007100} 0o} ti T it
1 ) H i T } \ 1 i ' o ' ! i !
L2 141 5 =1 a5 i—1 1=t 4 d4lor izt
| S| | SR 4 | R J | S, J | S, J [ S 4 Leee o m 4 | S, J L 't
! R T : : b b o How do
] | 1 "= | ! | [ o1 1= I
AT A s b e e e you feel ?

33



. Did he eat too much?

G.I.D.E.C. was here . . .

i

- I - | r— T - - — Tlo - - -
C_ﬁ |__‘2 — | E_—| (O wl P~ jo “|5 _ _ﬁldl Toll olo|w|w~
S s o e s e I S e (o ol ol ol
ol — | N NTol X! o [ _
_||1TB|II|I._ L— I.l_ ~ L - IlT' mlrﬂ._ LI~ T
+|—! 1 Ny =
I _ ol wluw
I
| "5_
L_d o « F— o _
anr R i
e ! L ! —
STol 12 Tt
bt —+— r—+-- X | ©! < Ol
w 1lo|m o] o - il R il
P T F—+-4 oy —— Ol
! L2 T T [e F 1
N F—t-—+-—7—+—1— |
1o, FET =T | @ o .,
=T - Il s et R e _
©| o 1@ L1 4 | 0 Anull__
et Toll — -1
< x| o — X o D“ _ - L_d
L ~ o L

— o L
_ 1o -
FT oo AR o Rl I S
< IN] N t I lo
B Gl Y
© _ — 1
L_J _ ~-

r~T=T7T"1 [ F—ToT770
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Tactics and language you may find useful.

Change to
“simplest form” or
“lowest terms”’

Change to an
“improper fraction
with a different
denominator”

Change to “equivalent
mixed numbers’’ with
the “least common
denominator”’

J 3
3 - = 3 - | 1 _ 25
8 ~ 4'9'_A |—4'-T—T2- 3 '|-5_—3TO"|TGE
- - 8 - _ _
= g B =~ & T 1% |3 = |—,6—F
= = ¢ | - = 7 4,3 -
5 - ) 3% ® " =@ 3¢ 46 = 3— 4—*
ST = = 0 7 - . 2 4 _
6 - II_O_' 10 ~ TOO 3?'27-3—.2—3
£2 - = E 4 _ - 3 | - L ¢
8 ) 2% = T =77 51 73 =57
““Round off to the Change to a Change to a

nearest thousand”’

decimal fraction

“common fraction”
in “lowest terms”

'
1,784 —— 2000 |50°/o= _,_o% - i5 750/0: = D
goe —
- - E
9300 — 225%= = e =
2,495 — % = = F
2509 — 35% = = A B C | D |EF
9t [ 75 | 170 [1000| 2 | 2
37514 — 2
3 - - 12214000 2.2 | 9f| & [2.25
11,800 — c 4
35| 8| 66 | 15 B
1,4859 —= A - - 40 |k} 18 9L |5400q 9000
3750 — 75 |l2000 3 |7 3 [2000




Another tactic and more language:

“Estimate” the answer by ““rounding off” the ““dividend” to the nearest 100,
and the ‘““divisor’” to the nearest 10. Then, please compare the “estimate”
with the computed result.

estimate: _900 < 30 = estimate: ~ =

a b c e r .
3
27| 945 0 - larger 42| 1596 L
ﬂ— - __smaller -
135 difference

d b

estimate: - = estimate: - =
¢ d e a b c

|9||O83 _________ 34|l224 __________

f r
estimate: s = estimate: - =
e f a c d e
58'2378 SRR 47|II75 e
b f
estimate: - =
a b c
a b c d _e f
5 7 6
62 |3596 _________ _ 00 | 75 o | 50 | 24 |
- 40 | 60 | 40 | 20 | 1600 | 60
900 | 30 | 30 4 55 7
d 1200 2 200 2 2400 | 40
3600 ( | noo| 5 oo | 2
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7 and —é—x 14=7
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Tactics and language you may find useful.

Change to
“simplest form’” or
“lowest terms"’

Change to an
“improper fraction
in “lowest terms”’

14

Change to

“equivalent fractions”

with the ““least

common denominator”’
| |

-—

L S &
70 _ . - a._ 24 - 3 2 __ .
s - 8% =83 8 - A
66 _ _ 8L _ - 2,3,
2 = — oo = A. 7 ' 5 ’ F.
78 56 _ _ 7 8 _
_— = = - = = B. & - 1A
8 uq 6 ' 5 ’
ue _ - 4z _ - s> .6 __
6 = 28 = ¢ g ' 7 - '8
87 _ - 72 _ - 8 __
—q— - = ‘6—3 = = D. 5 ? q - ] C.
Change to an Change to a Change to a

“improper fraction”
with the indicated
denominator

“mixed number’’
with indicated
denominator

““‘common fraction”
in “lowest terms’’

5
2 - 8 _ 24 I - 953 - o__ - =
23° 6 = T8 . - 27 ~2%°% I8 100 - 507
3 q 5
- = —_ = — - = = — = = B
1= 12 12 2 2ge 08
| _ 15
— = = — — = = —D. = = C
22 8 8 '24 84
A, B, C D E | F
2 _ - 13 _ - o _ L (35 L [q2
35*= = 5 = = 25E 2y [Reg 7 |15 |95
12575 | & |17 | 9 283
222815 (a2 |15 |20 |17
Q|15 %3274 | 20| 3u
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“Estimate” the answer by ‘“rounding off” the ““dividend” to the nearest 100.
Round off “divisor” to nearest 10. Please compare the ‘‘estimate” with the
computed results (to the nearest whole number).

estimate: 600 —40 = 15 estimate: - =

22 E e f a
1638 - ‘ !

381|630 tmeezim U0 arger 62| 1528
g0 , [1528

)
20 — 1S<- smaller =

228 ___ ditference -
22 f b

estimate: - = estimate: - =
c d e a b c

57| 780 ________ 29| 2071 .

b b
estimate: = = estimate: - =
e t a P g 5
82| 3197 e 67| 3485 00 _____
b f
estimate: - =
a b c
a b c d e f
38| 20200 _ 2000 O |s600 | 7 30 | 75
_ 2100 | 40 70 4 |1500| 80
_—— 2200 | 20 |3500| 3 50 7
—q 40 30 | 1800 | 60 70 2
25 | 55 | 70 |3200]| 60
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_ 100
100

10
10

. Large Square =1

What Can You See? . .

w ®
Ll
||.ﬁlvl W —_———
%mlu 2_5 m
x|«
[ T 70T 1
rr T
RN
LLLLLLLLLL
LLLLLLLLLi
T
I_I_I\w I_|_|_|_l_
N | A _|_|_|_l_
Ve
] ] LLLLL
L I I
< w
S
—_——— W —_———
38| - |
x|l ©
GUUHUMQMML
NN
LLLLLLLLLM
SEARENEENE
T S St T e —
LLLLLLLLLL
L ey
IR Z
HRER
L1 1!

19
10

.25

.0l
.06

17134

7
A7

6

|7
I
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Change to “equivalent Show other
mixed numbers’’ with members of the Change to a

the "Iegst common same family decimal fraction
denominator”’

| | = 2 _n__no__ _ _
ES?;’IZE - 3| ’I K) 2 3 "22]2"2 3() I2£5%6"|oc)‘
3 7 . S 2 = -
IE’Z—B_"I—’Z— 35 _3|0_3| O 45°/Of‘|oo-
' g., .g.: —_ R i: —_ | — —4—=—:
1537 =1—3 Is=1e"1% 5" 10

Estimate answers by rounding off "divisor” to nearest 10 and “dividend”
to nearest 100. Then compare this ““estimate” with the actual result.

estimate: + = estimate: ~ =
39| 38 @ - -- larger 53| 3551 00000 m——e—e-
— smaller —
___ difference
o 9
How do you feel ?

@.r@:® m , dm  cm meters

2 0 0] & |35 o
- 5 =5 -5 +95
1 1 @ 1 1 m

4

i
Lo—-d

1

1

1

1

1
_———do

emed

3
e
¥
]
§

o ——

blu
XX

1

|
.

t

X

T

t

|

T

|

1

-~ 7T

]

1

]

I

]

-
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G.I.D.E.G. was here. Did he eat too much?

-7 S T D —TTT°
oy ] _1 |“. D“\ | “|74_| GJ_
e e S S e T
urf ol ﬁ I (81 O | N~ |
L e T Sy —_ 4 -
Ml — _ M — |
——+ — I B -1 1|
- - _ o
_.Il_ll Tll_
[
12, L_
fad!
L_J
3 ——
— r 1 T T
1
A S i —7T- ! S D
B T e ot
F—t—+—T1—+- < N O N
w | o[ S IR
L4 4+ 3 1 (o) I —
+ _ 1
® i IR B
|||_||I I |
-z -
I oy
| © | L_
-4
Il
L_ o
=T -7 1 [T
- _ Te) _ ; o
o " SN DRt i
| r—T—T M [~ 1 NI | jo
B I~ — | Ju Lo 4y
Tll.__ u| i ! to L+
'S
| rl_mm |.W.p|o:|L_e _ - ™
Tagl S e
T F~T-770 [0 FET-T7 [0
o o, |0 ! lw I | QO I i O |
- F-t—1—+—+— F—+—+-+—1 -
| wl I N~ N~ |w b= (N lo
I|..l_ .1 — -4 r|LA|A| —+—4—
I X liTe) lw X I lw
— _'|1ﬁ|l_ rllle
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Tactics and Language you may find useful.

Change to “equivalent
Change to “Round off to mixsd numbers” with
“simplest form” or the nearest the “least common
“lowest terms’’ whole number”’ denominator
¥ K] '
100 _ - I — -
T B s 33 — 3 2h.xb-2k3g
74 — 8
4Q _ = -
2 i . 13— | 75 4% =740
325% — 3
57 - - B = | — —E
5 ° - 5% — e I15:3F=1—.3
— F
106 _ - c 4.25 6442 = 6— 4—F
8 | 75% — Ao ST T
7T o B
92 _ - D 4-8 3 4 _ A
12 - 3 7 9 5g 65 =5—6—
336 — c
Change to a ““mixed Change to Change to a
number’’ with an “equivalent fractions” “com%non fraction”
“improper fraction”, with convenient in “lowest terms”
and change denominators ~denominators
-+
41 - 33 - 36 S _ 10 _ 2 024 = - 0
2 2 4 6 2 - 30 ' - 1000 T
- O___ - B 7 - lo/ _ -
3% -2y =23 T @’ 23%k= =
9
— = — - C — - - _A - -
46 = 3% | 3 5 7 % T 375 = = F
5 A B C D E F
3y = 2= = 2370 'IZO' = 3 = To° 6|22 B lese 4

(0))
o
d
i
~c
N
ﬁﬁ
:N
g
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SPEED LIMIT . . . 55 miles per hour | | 60
| | ’ | I
I I | I | |
| | | | | | | [
ey e e e Rt s 2
I |
| | | | I I ] | | I I
| [ I I | [ | | I l I
L i e St i e At St 2L
|
T T [ T EA A R SR SR B
| | [ | I | l [ | | |
30 __...l._._..J____Jl._.._l..__J._..-,l_--JI-—--{.—--JI.___i__...L_-- 30
| | | I I l
I I | | I | | I I
! I | I I I I I |
20F———+4-——- +———— +—.——+———J|r———+|-———+———|+-——+--- 20
|
I I |
| |
+
|
|
|

—_—_———t——
1
|
|

0 6 10 '8 20 30 40 50 | hour
minutes
6 min. =.1 hr. and .1 of 55 miles = .......... miles

minutes—> | 6 |12 | I8 [24|30|36|42| 48| 54|60

miles /N
A 8 c D E F A B C D

Please find these points and connect them with a line.

Using this graph, please fill in the following table with
approximate distances:

in____ minutes 10 {20|40|50 [66|90]100/120]150{180

about___miles

E F A 8 c D E F A B
If the Speed Limit is 40 m.p.h. A B . C . DI E(F
. ' 30 6ol 151 a5 90 37 | 46 |305] 22 | 92 | 90
minutes —>

60 I 20 182.5| 9 | llO
miles /T\ 5.5 | 165 [495[ 40 275 30
c D E F A 385175165/ 55| 11l | 18

Please find these points and
connect them with a line. 138 | 44 [605] 37 | 10 | 33
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. Large Square

What Can You See? .

1.3
.S

170

57
.85
100 | 1.25

500
42
17 | 57

S50 =

.25 | .75 |1.05].28 (42

50 |400|1.9 [.85
75 1.500 .01
39 [.39

1.3 =1.30 = 1.300

0 < M
= B —=1 5 - e 5 ||-——-
L Y olS|aio] 18 S =Y
x o > o P4 [a]
0 o) < 0
__ | AR O | B o ]
—-— 5 Sl 5 1% [
2wl I8 Q2| o f |3 2 wio | 18
, o4 < 94 < * <
CL ! T i a T T ror ]
S I I I B
S O A A Y A
A A e
N _LLLIF TN A
HEEEE s _LLLLLL|FFF
REEEE RN [
REEEE 1 RN \\ \
N _LLLIF L RN
NN | 1L IR RREE
] N ]
LLLL|/ RN EEEEEEE \ \
HEEN HEERE R
T N BN IR /
L | || N LLLLLLIM ﬂ
] HEEEE e LLLLLLI/
] BN RN LLLLLLJ%
L] R N
RHEEEE I e IR
111 NN L

Please add “decimal points”
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ro|—
x
"
|
NI_
>
ml—
[{}
»|-
N
>
p-S
]
@

I l_ I 2 _ | | . 2
2 X3 "% 2 X373 3526 3
I I _ 2 | _ 2 2 _ 2 2
35379 3 X3 "% X1 =3 3
3 _ 3 3 I _ 3 3 2 _ | 2 3
2 Xl =3 s X7 "8 3 X 373 3 "3
In most examples you will notice this pattern:
a C _ aXxcC 2 | _ 2
b X g = bXd such as 3 X 3 5
If we write 1 as + the pattern holds
| P 2 - 3 I
2 X T2 3 X773 a X7
Lets try the pattern on other examples,
and then find simplest form of the answer.
I 2 _ 2 _ i 2 1 _ _ 2 _ _
2 X3 % T3 X7 ——A FXF=—°F
3 42 - 2 x3 . _ -
s X3 =—C FX3
Please use this pattern in the following examples.
I 3 = .I_ A— — T c—
3 X 2 F 2 X 5 - A
2 32 .- LxZ._-__¢ %i
= = = = |
3 5 10 3 4T
I
3 1 2 .3 &%
T Xg——hA FXFg=—=—8
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Anldea . . . Another idea . . .
. and a family of names. . and a family of names
Al * Nk
r=T77
— | —
I3 . I-“T——I 23
implest / Zl
simples -~
Some other members of the family: Some other members of the family:
—_D_lr__ﬂ__Gl——Al—__BT_—_F _ A}— B of 1] _JII_—I?
[ T R R R R A S S R R
sl 12z 31813 7 8112176140 |00
B et Bt it B e e e e
'si'so 'z 1w | |'Fi'Ei ! E ! ™ 01! 00
_| I _] I _ _ | | | I |
I I
Some related families of names: : Some related families of names: :
l*—_a'll_—ﬁ"__ﬁll__ol—_ﬁi I*_—'xi__EII_—TI_—“EI_'?I
| | I I
=l l=i s 51535 3- |7 25117125115
3 6!l '12! 3 | 6 | | | I I | |
S IR S RS 4 __4__1_4_|___4_|_8_I_8_I
* T ol Talr ol T 8 T T ¥ TclT B[ T ElT T Al T T
2_2__||_|2_||_I_I 12 = =
31317316l 61 6 | 4 4 181 8 | 12112 |
S e S I S e N P
Some more related families of names:
Another idea . . . s I A - I ]
. and a family of names IIE > I Y : 0 : 50 :m!
I . N S T Bl B
Tt 5 _ 3*“‘7:——6}‘—7:—11—“6|
7 S 22| = | 7 1255 | |
| ! | ' !
7 7 4] 4 | 8 7100, 100, 100
K G A L B
4 — e —
5|17z 172128173 |
Some other members of the family: _ 1
) L D
S p—
5|5J|I|4:IO‘|IOO AlB|c|DJE|F s |H]|TI]|U
' I Kl225/ 2 {11 | 8 [225]| 2] |18 |28 | 75320
| Arelated family of names: ! L] 9 [30]75]12]1a[40] 16 |50] 13 |65
I*——GI_—GI__QI——_OI—WI m{ 2 | 6|3 [is0|25]15 [175]24 | 36 |125
3_ | — —_— J— N Nl 1 [10]|171 4 [260( 26|27 |14 |150| 90
5_5_L_5| _S_LI_JII_EJI o[ 5 [150] 7 [32(20(35|22]|175275|85




Tactics and Language you may find useful.

Change to
Change to Change to “equivalent fractions’’
“simplest form’’ or ““equivalent fractions” with with.the “least common
“lowest terms”’ ‘“‘convenient denominators’’ denominator”’
46 23 _72 5 _ 15 20 3 3 2| |2
= =( = = = ’ = '
6 3 3 4 12 |6 4 T 28 28
96 - = A 3 - = E 7 * 4 = ) C
9 7 |4 35 8 5
74 2 7 )
= = B = = F ? = ] D
8 9 |8 36 6 9
69 _ . ¢ 8 _ : A 3 ' S . ’ E
9 3 12 21 8 9
50 2 4 9
= = D = = B = F
4 5 35 75 7'8 ’
Changeto a Change to a
““mixed number’’ with all fha”.ge toa T ““common fraction”
. . decimal fraction . v
improper fractions in ‘lowest terms
32— 3% = === E 6% = 7w = D
2 2 ° 100 ° 7 100
Lo | _ - -
4._3.. = 3— A 7-? = = F .|6 = E
2% - | —s = = . A 004 = = F
L3 21 . - A|B|C|D|E|F
M 49 ’ e 72| 2 (3 (a8
3 3/ 8 !
94 -g8—0p 19 _ ) c 0% 3 | .76 |4 56, 5] 7.5
5~ 25 .25 430 ¥ [12%| 2% (B8
35 3 (2740 I
32,56 95 |50'40| 86 |72'72| 260




o)e -

% fios
o

T @) 2 &)

C. D E.
60 8 4 A B 4 ¢ D E
2,3,3,3|2,2,3,7|2,2,2,2,2| 2,2,2,3[ 55,5,5
2,3,3 |2,2,2,2| 2,3,11 2,77 2,2,2,5
2,2,3 |12,2,2,7|2,2,2,2,3| 2,2,7 3,5,2
A B 2,2,3,5|12,2,3,3| 3,3,3,3 |2,2,2,3,3]2,2,2,2,2,2
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7?@?’0\ (ololofofo] (efefee)e) 3@@’8’8 (o) F (o) (@)
Cooooo-ooooobcooooo-ooooo:) ollo||o]|e
ole|o(e|eHo|0|0|0]O ele|ele(eHo(o|0(0|0 ol(o]|o]|e
elelee(e||olol0|0l0 oleje|e]e| |0|o|o|o]O ollo||o]0
olejofofe|[o|o|olo|o olefefee][o|oo]o|0 oljo||o]o
olo|ololo]| |e|ele|e|e olololo|o]| |e|e|e|e|e o||o||of|o
ololofolo]| e |e|e]e|e olojololo]| |e|e|e|e|e ol{o||o||o
olololo|oe|e|e|e]e ololojo|loHe|e|e|e|e olloflo|]o o0 e
Cooooo-oooooDGoooooroooooD o||of|ol]o XX
ololololo/lslslslsls) Telolololo] lslslslsle Jlgle XX
2 rafts 4 ten-sticks 9 loose beans
1 loose bean is one tenth (1/10 or .1) of a ten-stick
9 loose beans are nine tenths (.9) of a ten-stick
249 beans are ten-sticks and .9 of a ten-stick . . . or 24.9 ten-sticks
1 10-stick is one tenth (.1) of a raft.
1 bean is one hundredth (1/100 or .01) of a raft.
49 beans are .4 of a raft plus .09 of a raft . . . or .49 of a raft.
249 beans are 2.49 (or 2 49/100) rafts.
F H
beans 249 537 28 999 [O00
R O b Tl T T e A
IO-sticks 0.5
- — e T E e A B T
rafts 6.00
a penny is .1 (1/10) of a dime and .01 (1/100) of a dollar A B c
o D|.28 |537 186
adime is.1 of a dollar 1 24 1909 537
F |[100.0| 105 | 249
pennies 249 186 9 6 |1.05 249 .9
_ G D G C ]
dimes 9 H | I00 | 600 |9.99
A 1 600]| 10 60
dollars 9 sl 9 | 28] 90
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Results from earlier examples

.2 A2 .5 25 22 03 08 30
+.3 -.03 -2 + . -7 +.04 +.12 -.07
.5 .09 .29 35 .05 07 .20 .23
.5 (.07 .34 1.5 10.7 .05 [.3 .535
x .5 x 2 X .5 X .5 X 2 x 4 X .3 x 4
.25 2.14 J70 75 2l.4 4.20 .39 2.140

.26 )

1) .25 2.5
3[1.5 5[1.25 4[10.0 5[1.30 4[2.0

Please follow the patterns and extend them.

.5 .5 1.4 2.5 .9 .0 20 2.18
+.4 A +.5 B +1.4 ¢ +2.5 b -.4 £ .4 F -.05 6 -.OSH
.50 5 .07 34 24.3 24.3 14.23
+.75, -I8 , %07, -l56, +.25, -l25, + .9 ,
N I 1.5 1.5 | 5 7 7 .07
x 3 o X 3 g X 3 X .3 g X 3 yoX 4 c X 4 J x .4 K
|2 .2 1.2 2 | 2
xl2 xl2 A x|.2B x 12 c xl.2D A B C D E
144 F| .45 | 1.44 |23.05| .6 | 4.8
G| 1.84(.15 | 28 | .3 | 45
H| .9 |.045|1.44 | 2.09| .03
253 1{14.4 | 2.25| 2.53 | 5.0 |.253
A c E
5ll265 5[126.5 5/12.65 5[1.265 J{253 1.0 | .32 |.144 | .28
K| .14 |25.55| .028 |i5.13 | .5
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Change to

“simplest form” or

““lowest terms’”’

Change to a

““decimal fraction”’

Change to a
““common fraction”’
in “lowest terms’’

50%= 155

795 %

16
150 %
008

|45

. all factors greater than 1

o
b

686

78
3 7 a 1.2
+ 4 +.7 -5 4 =
2
5 63 83 07 °
.5 X 2 x.2 x.3 3
m

x

x

x

win w|—

N |—

How do
you feel ?
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G.I.D.E.G. was here.
Did he eat too much
in any example?

L_ x

r—T-7T 7
Tl | (QV N
e
ol | < |

Lt
r—T 7"
ol | <
—4—4q—d
ol | 3_

ElI2|8|2](9
FI6([13|0]|7
6G|9|5|8]|7
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Tactics and language you may find useful.

Change to

Change to “’equivalent fractions”
“simplest form’ or f:ha"ge t(,), with the “least

i 27 per cent H 144

lowest terms common denominator
215 _ 515 - o] 7 . ___ =350 5,5 _ 3530
o - 2lig 7213 20 00 - 997 6 7 42 42
30 _ _ _ _ o 5 5 _
T = A 2 /oE s '8 ° —C
_36 = = —9 = = o S ’ 5 =

24 B 60 oF T —D
64 _ _ 37 _ - o 5 5 _
56 - ¢ 25 /oA 8 7 —E
63 = = i = = o 5 5 =

54 D %50 /0B 33 F

Change to
Change to “‘equivalent fractions” Change to

decimal fraction

with ““convenient
denominators’’

a “common fraction’”’
in “lowest terms’’

18%= <55

@)
"
%S

27
45

il
I
O

L

3 12 .
5 -~ 20 ~ 45
9  _ _

7 " 3 "~ 63’
3

7 _ _
8 48 7zB
4 _ -
9'54‘8|C

2
1665 %= D
l (o)
— - E
1125 %
| o/ _
64 /o F
A B C D E F
6 | 2 2436 1g | 27 3 L3
2% (426339335 1.4 | 200 (45,8]
| 2 [35 40
9,21l 15 [ .3 [ 12 B3 15
148 [4.25) 14 35.29 1 | &
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1.0=1.00

00 _
100

10
10

1=

. Large Square

What Can You See? . .

Rl
ol | O | [e
(&)
o
i
il B (=
4

+4

+4
10

E:
w2 ] o
—_— ._. —_—
§ | @
II||J ——
I8 o | |8
LT T
RN
DT
EEEEEEREN
I
A
AR R
RN NN
HEEEEEEEE
NN
I A
AEEEREEEE
I
EREEEENEEE
N
REREEN AM
EREEE
I_I_I_I_I///
|_|_|_|_|
__h_WV

clo|lw| Q|8
< o|f|w|B|m
cgluwlwlolx
O
I
——i5 —_———]
2t} o S
<
T I T
_l_l_l_l_l_ll_l_l_l_
R Il
—l |||||||||
RN
D D |_|_|_|_
_l_|_|_|_l_| B
L] .
ERENEN R
I I
NN
I |
|
_
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Different ways to talk about 50c.

E of a dollar . .
of a dollar is of a dollar .

of a dollar; there are 10 nickels

.1dimeis of a

. there are 20 nickels

. "2 quarters’’ or of a dollar . .
dollar, so

in a dollar and a nickel is

indollar, so 50c is ;—8 of a dollar. A penny is |CI)—O of a
dollar, so 50c is T% of adollar. So, we say
| 2 |_15 |_|!19]_1509
2 4 10 20 100
1 T
There are many ways to talk about Please fill in the
following series of names for
A B c H 1
! = = = = S} = 6 = 14 = ] == — -
2 4 6 8 1O D F G 20 100
Different ways to talk about 75c¢
3 . 15
Three quarters . . . ofa dollar . . . 15 nickels or |2¢| of adollar
. . 75cor % of a dollar. So we say: = = %
Please fill in the following series of names for
A D
3 1.8 _ - |15 |- 18 _ 21 _ 24 27 _30 _____ 75 1
4 8 2 |16 20 I00
B H A D
Please fill in the following series of names for , ‘,I— and .
lj.2 _ 3 _ 4 _ 5 _ 6 _ 7 __8 ___10 _
4 | s - -
H F B C I D A,B,;,C,D
F 6 E| 2 |14 |21 [i00
| |- 2 _ - -> -6 __ 7 __8 10 F|se| 3 |16 |40
10 20 30 40
I 0 E 6|9 |18| 4|70
c H D A
7 =|4= _ _ _ : _ L __H49 10 |28 12
10 20 30 40 50 60 70 80 100 1|132|24 (50|42
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Tactics and language you may find useful.

Change to
“simplest form”’ or
“lowest terms”’

Change to "“equivalent
mixed numbers’”’ with
the ““least common
denominator”’

Change to a
““decimal fraction”

¥ ' v
23 _ 5 _ _| 5 _ 1 _ 3 L4 _ 15 ,28
To- = J0 = 7 - = 17 =125 |=.2% = |35, 238
-5 =—* % = £ 2%.4% =2—.4—C
5% _ = B 14 — - F 4 | - _D
35 - —— = — a3 = 5.2 =5—.2
—E—%—: — =z —C 2—2—: = A 7%,4—6-:7—,4—5
r - 17— - L, -
}7—— = D -5 — = 8 27 lg=2— I—F
Round off Change to a
to the nearest ghange t?, ““common fraction”
whole number per cent in “lowest terms’”’
S  _ | — ' loy — _|
- = 27 =250% 333% = —
4_8_ 5 2 2 3 3
.39 | 1.3 = = %A 665%= —tF
225% —= A
4
d . w%= = % i2f=
135.7 —= ¢ A | B|C|DJ|E|F
_ _ L 2 |35
7% — b 09 = - %c| 6 ]'2]° 8 33
2 | 68| & B2 297 13
297%—’ € 13 - = %n0D|325 85 136 '% I%’TZZ _IQ'
12725 — )




Pairs of Whole Number Factors

Rule: write the smaller factor below the larger factor.
A B C
X X X X X X X X X X
| 8 18 | 8 20 20 20 24 24 24 24
D E G B
X X X X X X X X X X
25 25 27 27 28 28 28 32 32 32
A F G
X X X X X X X X X X
30 30 30 30 35 35 40 40 40 40
B D C
X X . X X X X X X X X
36 36 36 36 36 45 45 63 63 63
Please find the ‘“Missing Prime Factors” from the list.
;l;?te 12,3,5,7,11,13,17,19,23,29,31,37,41,43,4753,59,61,67,71,73,79,83
s \ 7 89
/ ///1| 9‘|{
/ ~ //', A B c D E A :83
Iy s 107
- Ry 109
X & X X X X X X X I3
|4 9 10 21 IS 4 25 22 127
B C D E A B c D ||g_|?
139
|49
X X X X X X X X 151
95 46 51 65 57 69 94 106 157
) A B D A B c D E
3[33 a9 [26 38 |Fl201 | 23] 247] 1,5 | 5,3
2133 49 26 58 G| 2,5 [1,2,4] 35 | 3,17 [I,2,45
C 5 el H[1,2,3 [ 5,11 [ 1,37 [ 253 57
il 7,7 1,2346] 33| 5,07 | 1,3
35 39 (85 o7 |2[n235] 323[123,4] 2,19] 55
35 39 85 ol K[ 3,19 [ 3,1 2,23 2,3 ] 7,13
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““Prime Factor Puzzles”

Rule: fill all the blanks from this list: |(2,3,5,7
A = 14 C X = 8 E X X X = 16
B = |5 D X = 12 F X X X = 24
C = 2l G X = 18 G X X X = 36
D = 25 F X = 20 A X X X = ﬂ)_
E = 35 6 X = 27 B X X X = 54
F = 49 A X = 28 C X X X = 56
G X = 30 B X = 50 D X X = 75
A X = 42 C X = 63 E X X = 98
Pairs of Whole Number Factors
Rule: write the smaller factor below the larger factor
(Answers show only smaller factors.)
A A C A
X X X X X X X X X X
4 4 6 6 8 8 9 9 1O |0
D B C E
X X X X X X X X X X
12 12 |12 14 14 15 IS 16 16 |6
E C
X x X X X A B C D E F G
20 50 50 57 51 2,3,71 1,2 (2,2,2] 5527723486 23,5
2225 3,5 [2,22,7[2,572,2,22[2,2,5(3,3,2
F 227255 1,3 [2,23] 5,7 [22,23[2,2,33
X X X X X 2,7 (2333)7,3,3(3,55(2,3,3(5,5,5(3,3,3
48 48 48 48 48 1,2 [338] 3,7 [1,23]1,2,4] 7,7 4,5,
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63

'8 w
-7 ~T-T77 7 T~ T727 r T o777 T o7
Tl | N J_ _—|5_ ! ! | M~ | I~ e I N T} w~ o |~
F—+-1+--4  F—+-1-d L-L-d—d bt e
ol | al | N — o ! =1 wl wl ol—jnN|O
L_d L x b-4 + =4 L x}_J x - r . [ U
- I K R S s W RN [ B I
L-4+—4 L- -
T -1 ! ' ol |w|~
S rsT-7-1 roTC700 L1~ ¢ Lo P
e — 1 _ 1 l
4 Tl 1 rz7-77 . NS (e u__ L oo I I e
Fot—t—d O] A—,v ! s I B e sl ey = L | o




Change to
Change to Change to “equivalent fractions”
a “‘common fraction” ‘per cent” with the “least
in “lowest terms"’ common denominator”
3% = - 3 = = % Az ——
° = 00 T00 -~ ° 7 5
Lgi = = I% = = % _g— ? —%— =Sy

Use only pairs of factors
“From the List”

2,3,5,7,11,13,17,19,23,29,31,37,41 ,43,47,53,59,
61,67,71 ,73 79,83 .89,97,I01,103,107,109,113

X X X X X X X X
126 177 249 291 321 335 427 763
X X X X X X X X
20l 259 319 395 403 58I 583 1133
Round off Change to
Change to a to the nearest ““equivalent fractions’”” with

decimal fraction

whole-number ““convenient denominators”’

745 = =

173% = =

64

Z -
— i: — = —
7.09 - 3" 38 Bl
1367 — ____
How do
3|7% - you feel ?-
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